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Find the equation. Hin_t—use intercept form, then change to standard form v f' [\ ‘I\ ( 0 / "’( & j
ER R VeyteX (0,10
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tF'Iacti::e #2: Determine the approximate equation of the parabola. Use vertex form, then change to
standard form.
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Practice #2: Determine the approximate equation of the parabola. Use vertex form, then change to
standard form.

T AR )T I
\\\;,4/ U@({*GX /S/IF\?

(
T2 -1 | 12 | 01::: =

V:ixaﬁ-

Practice #3: a) Sketch a grid on top of this picture or copy it into desmos. Hint—placing the vertex on the origin
15 alwavs easiest. Label any of the following on the graph: x-intercept(s). v-intercept, AOS, Vertex.
b) Using guess and check. put 1n a variety of numbers for “a” in vertex form to find out how much

the parabola shrinks or stretches (hint: v=a(x-0)2 +0... looks like y=ax2). Then, write the vertex form of the
equation in the space below, and convert 1t to standard form.
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